10—1 I

k3l
5
(]
o
o
~
s
@
e 2
g 10
¥o)
?
o
o
~~
@)
yoi
10
1
2
%)
<
|
l_
<
e 1
ie)
<
04
0.5

13000 GeV pp

[T | I T T T | I I I T T T | I I I _]
B Lepton-jet P, ratio (ATLAS WWH+jets, b veto) i
B = |
- // —
: ¢ -\ u :
o Y m _
B ATLAS N .
— —— Pythia 8.308 default ~a. —
- Pythia 8.308 tune-1 ™S @3
B Pythia 8.308 tune-2c \\ 7]
— Pythia 8.308 tune-2m =
1| | | | | I I I | | | | I I | | | | |1
|: LI | T T T T T T LI | T T T T T T LI | T T T :I
B /A |
1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 11 | //‘:‘/ 1 1 1 1
107° 107"

P

sub;ITead. lep. p|ead. jet
T T

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


